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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T, "Topt’], ['RH’, "RHopt'], [ ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

1
—@— setVl _ETcl A !
200 1~ —@— setVI_fgRec :

—@—  setVI_WN +—e —
150 —0— sl|SetVI 1

. i — ¢ —9o—90—0—0—0—90 |
1
1
100 ‘ ,
1
\ ’ o—0 oO—0O—0—0—0—0
90 S = __IEA—'/’ |
__“\-5—7"“’ :
1
0 5 10 15 20 25 30




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-2
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G3-2_0, Day=22 (2025-06-03)
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14:05 85 80.0 1.728 |2 =| 1BRi%e14:05 Bz (kAFEREEE)
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16:10 85 80.0 1.728 (2 =| 1BRige16:10 Bzh (REEREE)
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